

May 2, 2024

Τo,

## Travel Food Services Pvt. Limited.

Dilli Street, Terminal 1 Delhi Airport

Kind Attn.: Mr. Abdul Rehman

Dear Sir,

We are pleased to quote our best rates for kitchen equipment below.

EQ SR. No	DESCRIPTION	OVERALL SIZE	QTY	RATE	AMOUNT
CH-01	WORK TABLE WITH 2 U/S	450 x 650 x 850+ 100	1	10,800	10,800
CH-02	COLD BAIN MARIE WITH U/C DRAWER CHILLER	1200 x 650 x 850+ 100	1	64,000	64,000
CH-02A	1/2 GN PAN (Brand: Anupam)	150MM	2	1,975	3,950
CH-02B	1/3 GN PAN (Brand: Anupam)	150MM	3	1,875	5,625
CH-02C	1/6 GN PAN (Brand: Anupam)	150MM	6	1,310	7,860
CH-02D	1/9 GN PAN (Brand: Anupam)	150MM	3	990	2,970
СН-03	WORK TABLE WITH SUNKEN BAIN MARIE 2 U/S Remarks: As per the design, it's not a bain marie. Instead, just a cutout for GN Pans.	900 x 650 x 850+ 100	1	16,400	16,400
CH-03A	1/6 GN PAN (Brand: Anupam)	150MM	6	1,310	7,860
CH-05	TABLE TOP KULFI FALUDA FREEZER	STD	1	35,000	35,000
K-01	CHINESE WOK ELECTRIC Remarks: 425Wx330Dx105mmH Electrical Load 3.5 K W	750 x 900 x 750+ 250	1	14,500	14,500
K-02	WORK TABLE WITH 2 U/S	450 x 900 x 850+ 100	1	13,000	13,000
K-03	WORK TABLE WITH U/C TRAY RACK Remarks: 1 Undershelf as per drg	900x 900 x 600	1	14,700	14,700
K-04	WORK TABLE WITH 2 U/S	450 x 900 x 850+ 100	1	13,000	13,000
K-06	WORK TABLE WITH SINK UNIT WITH PERFORATED TRAY & FAUCET (FLR- 5011N Jaguar)	800 x 900 x 850+ 100	1	26,200	26,200
K-08	WORK TABLE WITH 1 U/S	750 x 900 x 600+ 350	1	15,700	15,700
LK-03	SINGLE SINK UNIT WITH PERFORATED TRAY & FAUCET (FLR- 5011N Jaguar)	500 x 500 x 850+ 100	1	18,800	18,800
LK-04A	TABLE TOP IDLI STEAMER	6 TRAYS 54 CAP.	1	21,000	21,000
BK-01	WORK TABLE WITH 2 U/S	450 x 750 x 850+ 100	1	11,700	11,700

SUNRISE ENGINEERS Plot No. 25, Gali No. 13, Railway Road, Samaipur Industrial Area, New Delhi - 110042 Mob – 9873367072 | 99879 12221 Email – info@sunrisekitchens.in, sunrise.bijlani@gmail.com

## SUNRISE ENGINEERS

BK-02	BHATURE FRYER	NEED BRAND OR MODEL	1	31,000	31,000
BK-03	FRY DUMP STATION WITH OIL DRAIN SYSTEM	575 x 750 x 850+ 100	1	20,000	20,000
BK-04	HOT BAIN MARIE WITH 1 U/S	1000 x 750 x 850+ 100	1	49,500	49,500
BK-04A	1/2 GN PAN (Brand: Anupam)	150MM	6	1,975	11,850
BK-05	ROUND TYPE HOT BAIN MARIE WITH 1 U/S	450 x 750 x 850+ 100	1	27,400	27,400
BK-06	COLD BAIN MARIE 1/1 GN	500 x 750 x 850+ 100	1	35,400	35,400
BK-07	WORK TABLE WITH U/C CHILLER	950 x 750 x 850+ 100	1	48,000	48,000
KK-01	WORK TABLE	650 x 650 x 850+ 100	2	13,700	27,400
KK-01A	TABLE TOP TAWA (Brand: Butler/Elanpro/Equivalent)	550 x 350 x 320	2	15,000	30,000
KK-02	WORK TABLE WITH 2 U/S	750 x 650 x 850+ 100	1	14,500	14,500
КК-02А	TABLE TOP AMBIENT BAIN MARIE 1/6 GN Remarks: As per the design, it's not a bain marie. Instead, just a cutout for GN Pans.	400X550X230	1	-	-
КК-04	WORK TABLE WITH 2 U/S	1100x 750 x 750+ 100	1	20,600	20,600
KK-04A	TABLE TOP ROOMALI TAWA   Remarks: Electric Model unavailable	NEED BRAND OR MODEL	1		-
KK-06	KEBAB TROLLEY WITH HANGING ROD	600x 750 x 950	1	12,600	12,600
КК-07	SINGLE SINK UNIT WITH PERFORATED TRAY & FAUCET (FLR- 5011N Jaguar)	600 x 700 x 850+ 50	1	21,300	21,300
КК-09	KNEE OPERATED HAND WASH SINK	500 x 500 x 850 + 100	1	19,300	19,300
DW-01	DIRTY DISH LANDING WITH 1 OHS PERFORATED	1050 x 600 x 850 +150 + 500	1	16,200	16,200
DW-02	SINGLE SINK UNIT WITH FAUCET & DRAIN JAALI (FLR-CHR -5319NB)	1050 x 750 x 850+ 150	1	20,900	20,900
DW-04	UNLOADING TABLE WITH U/C BASKET HOLDER	950 x 750 x 850+ 150	1	12,200	12,200
DW-05	CLEAN DISH RACK 5 SHELF PERFORATED	1500 x 500 x 1800	1	32,000	32,000
DW-06	POT RACK 5 SHELF	900 x 500 x 1800	1	27,400	27,400
BA-02	COCKTAIL STATION WITH SINK & ICE CHEST & BOTTLE RAIL	900 x 700 x 900+ 50	1	34,000	34,000
BA-03	WORK TABLE WITH SINK	MEASUREMENT CHECK ON SITE	1		-



BA-04	4 SIDE OPEN TABLE	1350 x 700 x 900+ 50	1	15,300	15,300
BA-05	SMALL SINK	400 x 700 x 850 + 50	1	12,300	12,300
			Sub Total		8,42,215
				GST	1,51,599
				Total	9,93,814
	Freight		Extra, at		
			FIEIgIIL	actuals	



## **TERMS AND CONDITIONS**

Description	Remarks			
Packing	Extra if sent by shared transport. Nil for dedicated vehicle.			
Transportation	Charged extra, against actuals.			
	Refrigerated Equipment: 18% (HSN: 84185000)			
GST	Heated Equipment: 18% (HSN: 8419)			
	Non-Refrigerated Equipment: 18% (HSN: 73269060)			
	70% advance (including taxes) along with order & balance within 15 days of delivery.			
	Payment to be made in favour of "Sunrise Engineers", A/C No.			
Payment Terms	036405004403 (Type: Current), ICICI Bank, Rajinder Nagar, New			
	Delhi, IFS Code: ICIC0000364			
	Advances once placed are non-refundable.			
Interest	Extra 24% would be charged if the balance payment is not received			
	within 15 days after the delivery of the goods			
Loading and unloading at customer place	Customer Scope			
Delivery	Within 20-25 days from the date of receipt of confirmed purchase			
Delivery	Order and advance payment			
Validity	Our offer is valid for a period of 30 days			
	Warranty stands for 12 months against manufacturing defect for			
Warranty	spare parts only & warranty does not cover any mishandling, willful			
	damage, if any damage happens due to voltage fluctuation & all			
	other the consumable items; unless otherwise specified.			

We do hope that you would find the same in line with your requirement & favor us with your valued order.

Thanking you and looking forward to your positive response.

Yours sincerely, For **SUNRISE ENGINEERS** 

Siddharth P. Bijlani Email: <u>siddharth@sunrisekitchens.in</u> Phone: +91 998 791 2221